COMMSCOPE

P040-0097 Revision A, October 2023

Mounting Kits For Small cell Antennas

INstruction Sheet

MC-MNT-SIDE-370: Mounting systems for cylindrical pipe installations (50-250mm pipe diameter)

Suitable for small cell cylindrical antennas with a weight less than 20KG and dimensions less than

diameter*height: 370*610mm.

Installation Preparations

mounting kit installation diagrams on following pages for correct torque

All fasteners must be tightended to the defined torque value after onsite installation, see

recommendations.
Installation tools list

Figure 1 Installation tools lists

Torque wrench

Table 1 Installation tools lists

Tool Size Torque Range
Torque wrench 10mm 14Nm(11ft.1bs)
Socket 10mm 14Nm(11ft.1bs)
Torque wrench 19mm 58NmM(43ft.lbs)
Socket 19mm 58NmM(43ft.lbs)
Torque wrench 36mm 100Nm(74ft.1bs)
Socket 36mm 100Nm(74ft.lbs)

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information.
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23)

C € EEPage1of 9



INstruction Sheet

P040-0097

ITEM NO. DESCRIPTION QTY U/M IMAGE
] MOUNTING BRACKET,W/GASKET ] EA
2 POLE CLAMP,MAIN BODY ] EA
3 POLE CLAMP,MAIN BODY ] EA
4 SCR,HCS,HEX,M24X80,STL, GALV 1 EA
5 SCR,HCS,HEX,M6X40,SST,PASS 2 EA
6 BOLT, CARRIAGE,M12X270.STL.GALV 2 EA
7 BOLT, CARRIAGE,M12X45,STL,GALV 4 EA
8 WSHR,ELT,M24,25X44X4,STL, GALV ] EA
9 WSHR,FLAT,M6,6.4x12x1.6,SST,PASS 4 EA
10 WSHR,ELAT,M12,13X40X6,STL, GALV 2 EA
11 WSHR,ELT,M12,13X24X2.5,STL,GALV 4 EA

®

12 NUT,HEX,M24,STL,GALV 2 EA ‘
13 NUT,HEX,Mé-1,5ST,PASS 4 EA D
14 NUT HEX,M12.STL, GALV 12 EA ,“
15 WSHR,ELAT,M24,25X100X5 STL,GALV ] EA

www.commscope.com
© 2023 CommScope, Inc. All rights reserved. U K
Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. c €
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23) C n Page 2 of 9

Part Lists



INstruction Sheet £040-0097

Step 1 : open carton

Pack fasteners in small bags, then put them in large bags

Step 2 : remove cushions & fasteners & pole clamps

MC-MNT-SIDE-370

www.commscope.com
© 2023 CommScope, Inc. All rights reserved. U K

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. c €

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23) C n Page 3 of 9



INstruction Sheet

P040-0097

ATTENTION: Measure pole diameter to choose screw holes prior to assembly.

| ;
a\\\ 0
\ 0 ~_ / A |
T — @ 4
= e — - ]
‘i‘lll‘ ':» ,4," g /' \:{ j/ 4
% ﬁlml_ll
I ‘QJ
I\' < . ‘- -
D © <
L

Pole is @ 50mm~100mm, use the inside screw holes for the bolts

Installation hole position

PIPE DIAMETER

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information.
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23)

3

UK
cn Page 4 of 9



INstruction Sheet

P040-0097

ATTENTION: Measure pole diameter to choose screw holes prior to assembly.

- 2
‘)\‘\\ 0/
~ @ sl
Ty il

b — =
/ i‘: (!; . Q& /)
I ’ I ‘
\ A |
V4 /-

Installation hole position

il /‘\“ﬂl 'y

@®
Wi
&
&) " &

Pole is @ 101mm~250mm, use the outside screw holes for the bolts

PIPE DIAMETER

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information.
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23)

3

UK
cn Page 5 of 9



INstfruction Sheet P040-0097

GENERAL INFORMATION INSTALLATION INSTRUCTIONS

After removing the antenna from its shipping Refer to Figures 2 and 3 for mounting and arrow
container carefully inspect it to ensure there is direction. It is recommended that the mounting holes
Nno shipping damage. If the antenna is to be be marked and made ready in the mounting surface
hoisted into position, ensure the lifting eye bolf prior o installing the antenna.

Is correctly installed. Ensure the antenna is -

securely held during hoisting to avoid rotation The arrow of each antenna is shown on brakcet one

on the lifting eye bolt. side. The direction of each antenna must be considered

prior to mounting to ensure desired performance.

Warning: loosening or

removing bolts that attach
mounting plate fo antenna
will void warranty and may

result in product damage Recommened hardware is Mé
or personal injury Mounting Holes 8 mm
Asymmetric in 3 positions

Radome

Recommened hardware is M24
Mounting Holes 25 mm
Asymmetric in 1 positions

Radome
Connection
Fasterner
(Do not
revmoe)

Figure 2. Mounting Holes on Brakcet
Viewed From Bottom Side of Antenna

Figure 1. Small cell CommScope base
station antennas

Recommend
spacing between
pole top end and
pipe clamp bracket

) & upper surface.
50mMm-130mm
A
—
| 00
N .]'. 7

|

MHT—

Figure 3. Pole And Clamp Distance

MC-MNT-SIDE-370

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. C € U K

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23) C n Page 6 of 9



INnstruction Sheet

P040-0097

REQUIRED TORQUE

Mé& | 14N.m (11ft.lbs)
M12 | 58N.m (43ft.Ibs)
M24 | 100N.m (74ft.Ibs)

STEP 1 : Install the mounting kit on the pole

(7

|" J— 7

58N.m (43ft.1bs) @

Step 3 : Make sure the direction and
install the Mé bolt and nuts

@

N

Method 1: Install the antenna on the pole

Step 2 :install small cell antenna on the
bracket surface with M24 bolt and nuts.

14 ) 58N.m (43ft.Ibs)

°®

o[®
=2
©

o,
-®

[

Step 4: Tighten the M24 nuts o 100 Nm

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.
Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information.
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23)

MC-MNT-SIDE-370

C € EE Page 7 of 9



INnstruction Sheet

P040-0097

REQUIRED TORQUE
M6 14N.m (371t.lbs)

S e T LT P

il = R T[] ]
fiwmnn ||||gmml|

[

Step 6 : Choose a convenient location to install another

Step S: Tighten the Mé nuts fo 14 Nm Mé fastener, then tighten the Mé nuts to 14 Nm
L2 o s .

Method 2: Install the antenna on the wall

Antenna installation method reference method 1

Install expansion screws
at these 3 fixing holes

(expansion screws
customer prepare)

MC-MNT-SIDE-370

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information.
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23)

C € EE Page 8 of 9



INstfruction Sheet P040-0097

Use inclinometer
to verify antenna

is truly vertical i @ @ b
@ @
1]
11
LB

—[HT

MC-MNT-SIDE-370

Make sure the two clamp
brackets are parallel

MC-MNT-SIDE-370
SAFETY NOTICE

The installation, maintfenance, or removal of an antenna
requires qualified, experienced personnel. CommScope
installation instructions are written for such installation
personnel. Antenna systems should be inspected once @
year by qualified personnel to verify proper installation,
maintenance, and condition of equipment.

CommScope disclaims any liability or responsibility for the
results of improper or unsafe installation practices.

. . Do nof install near power lines. Do not install on a wet or windy Wear shoes with rubber soles and
It Is recommended that tfransmit power be turned off Power lines, telephone lines, day or when lightning or thunder  heels. Wear protective clothing
Wheﬂ ’rhe f|€|d iﬂSTCI”CIﬂOﬂ iS performed FO”OW CI” and guy wires look Tlhe same. :s Qo’lrhe area. Do not use metal mct:)lgdlngI a long-sleeved shirt and
. Assume any wire or line can adder. rubber gloves.
applicable safety precautions as shown on this page. electrocute you.

www.commscope.com
© 2023 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. C € U K

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0097 A (10/23) C n Page 9 of 9



	Sheet1
	Sheet2
	Drawing View220
	Drawing View221
	Drawing View222
	Drawing View223
	Drawing View224
	Drawing View225
	Drawing View226
	Drawing View227
	Drawing View228
	Drawing View229
	Drawing View230
	Drawing View231
	Drawing View232
	Drawing View233
	Drawing View234

	Sheet3
	Drawing View235
	Drawing View236
	Drawing View237
	Drawing View238
	Drawing View239
	Drawing View240
	Drawing View241

	Sheet4
	Drawing View242
	Drawing View243
	Drawing View267

	Sheet5
	Drawing View266
	Drawing View268

	Sheet6
	Drawing View246
	Drawing View247
	Drawing View248

	Sheet7
	Drawing View249
	Drawing View250
	Drawing View251
	Drawing View253

	Sheet8
	Drawing View254
	Drawing View255
	Drawing View256
	Drawing View257

	Sheet9
	Drawing View258
	Drawing View259


